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< 1,040,020
= 10,972,797
T A2 18,619,807 14,753,080 3,866,727
= 118,000
= 7,000,000
< 1,000,000
iy 10,501,807
T A HE 1,272,939 1,394,212 N121,273
SAHEAIE 2te| 40,007 270,112 A230,105
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201 LEt29h| 12,604 12,604 0
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O= &l 5,044
o= AINHE HR=X DAY 5,044,000 5,044
202 044l 12,264 12,264 0
01 2 Y| 12,264 12,264 0
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12,264,000 12,264
203 LR =& 2,500 2,500 0
03 AMZ=XHAR2FZXIY| 2,500 2,500 0
OZAHE A=A 2,500,000 2,500
013 AL OHe 200,000 300,000 100,000
401 Al&HI L 20 200,000 300,000 100,000
01 Al&H| 180,000 285,800 A 105,800
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180,000,000 180,000
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401 Al HI L ST 20,000 20,000 0
01 Al&H 20,000 20,000 0
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Etel~HE3 W2t T2 ZHISA 1,010,252 0 1,010,252
401 Al&HI LS04I 1,010,252 0 1,010,252
01 Al&H 1,006,615 0 1,006,615
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03 Al R04Hl 3,637 0 3,637
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Osel(FEH-UHF2)TAIHECR
200,000,000 %0.72/100 1,440
AP (ZsA) SAHEEZRE KA 300,000 300,000 0
401 Al&HIL =Yl 300,000 300,000 0
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49,460,000 %14 49,460
03 A& =2HH 540 900 360
OHHe HaX P Alls ALY
50,000,000 *1.08/100 540
&2 TAHEC2 WA 1,500,000 2,200,000 A700,000
401 AlEHIL 20 1,500,000 2,200,000 A700,000
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1,494,600,0002 x 1A 1,494,600
03 AlZ=2HH 5,400 7,920 A2,520
Otiez TAIHEEZZ HESA
1,500,000,000 0. 36/100 5,400
CEHI(BAXANB)ZAHEZZ 200,000 150,000 50,000
401 AlEHIL 20 200,000 150,000 50,000
01 Al&H| 198,560 148,920 49,640
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03 Al£ =204l 2,160 2,160 0
OFE(ZHYFH) TAHLZR AL 20
] 300,000,000 *0.72/100 2,160
T 2252 g SA 200,000 0 200,000
401 A EHIL 201 200,000 0 200,000
01 Al&HI 198,560 0 198,560
OF4aH 2352 NS AHL=150m)
198,560, 000& 124 198,560
03 Al£=R04Hl 1,440 0 1,440
OZMS 2RCR HLBA ALY
200,000,000& x0.72/100 1,440
e (WRCHLFH) TAHEEZ 200,000 600,000 400,000
401 Al&HIZL=ROHYI 200,000 600,000 400,000
01 Al&HI 198,560 596,220 A 397,660
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S 1=720m) 496,400,000& 14 496,400
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03 Al&=R0HHl 2,880 0 2,880
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& 6,981,800
03 Al =204l 18,200 0 18,200
OMNL =X FAIIBHAIE AL
7,000,000, 000& *0.26% 18,200
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Osl@WX2 & X (R=30) (1)
118,000,000 118,000
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= 22,400
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01 Ar222lH| 13,860 13,940 A80
Oguta2H| 1,400
0ABS PHEFIE oMY 4ot HH
50,0002 x4 +23| 400
oAETY TAH PY 100,000 10 1,000
o2g+g 7,420
oAES FH2g 70,0002 * 122 53] 4,200
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70,0002 *9% +33] 1,890
AR ST SHITAASG HAS
=4 70,0002 *32 53| 1,050
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70,0008 x224 23| 280
OEEL] 5,040
0AEJAIY PRFA O§AHI 5,040,008 5,040
202 01| 12,000 12,702 ATO2
01 =LHoiHl 12,000 12,702 ATO2
OASAY L FAHBAMLAIY LR FA
12,000,00084 12,000
301 YerE A3 1,500 1,500 0
10 #AMH 243 1,500 1,500 0
OOISLHE ASCTAl 28t B4 243
50,0002 *302 1,500
402 2I2tXHE0| A 15,000 0 15,000
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01 At2elt| 8,056 9,468 A1,412
ozl 7,056
0AZUR ARFZX GHAIH 7,056,008 7,056
OABANLLUY +48 1,000,000 1,000
202 014l 16,000 18,192 N2,192
01 2UfoiH| 16,000 18,192 ~2,192
OAELUY YRFX 16,000,000 16,000
307 ©I2r0IH 137,500 137,500 0
02 QINHFAEE 137,500 137,500 0
Osgosol #AHl X 37,500
050l T EALEIHIAL 500,000 355 17,500
oISBEAIL 2,000,0002! *10S 20,000
OZSzepe 2X23N 100,000,000% 100,000
402 BIZEXHEOIH 60,000 30,000 30,000
01 QIRH=R X 60,000 30,000 30,000
OREEXY =3Ne 6024 +500, 00084 30,000
OFs. AL ZHAHFX A (Fe22g)
3,000,0002! 105 30,000
BIEE Y X2 76,000 145,000 269,000
= 22,800
= 53,200
307 ©I2t0IM 76,000 145,000 69,000
= 22,800
z 53,200
02 QIAFAR T 76,000 145,000 69,000
OBl & HHIXI & 76,000
o&HOIEXE 2,000,0008 205 40,000
= 12,000
z 28,000
0 LBHOIENXI = 1,000,000 *36 5 36,000
= 10,800
= 25,200
Le 22 U ZH0IE ASS NENSA 35,000 400,000 365,000
= 10,500
= 24,500
307 QI2F0IH 35,000 400,000 365,000
< 10,500
= 24,500
02 SIHFABE 35,000 400,000 365,000
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5,000, 0002 +75 35,000
= 10,500
= 24,500
MEIFHAHNE T8 HBEAL(2HEEX 42,000 0 42,000
402 BIZHRH= 0| 42,000 0 42,000
02 SI2FCHE AFIH 42,000 0 42,000
OAMSIFANS FeIHSB4 1,200,000 <355 42,000
S 0IE Hel KA 44,800 0 44,800
= 22,400
= 6,720
= 15,680
307 ©I2H0I M 44,800 0 44,800
= 22,400
= 6,720
= 15,680
02 SIAF AR E 44,800 0 44,800
OZY0IE Hel X 2,240,0002 *20S 44,800
= 22,400
= 6,720
= 15,680
BHSAAU(TAIHASD) 61,694 64,359 12,665
o122l 61,694 64,359 12,665
pEEL] 61,694 64,359 12,665
201 Yer2oy| 39,694 42,359 12,665
01 At2elt| 37,594 40,359 N2,765
O Yprag] 29,594
0EN2Y(ZE) 29,594
—II=NSEE 70,0008 2224 +25] 3,080
—SWHRIE)| E  225,0008 *90H*33] 6,075
—2APERED EY
439,000% *1CH =444 1, 53] 2,634
—=ADIEY 375,0002 *1CH*35] 1,125
—SAF2XI(A4.B4) 35,0008 %222 122 9,240
—densz 70,0008+ 12 840
~SNBE £8H  250008%22% 122 6,600
ozl 8,000
OBOAPTA(ZE) A 8,000
02 ZZSIH| 2,100 2,000 100
O BZR2 2 HAl 2,100
0BIASX RETY  1,7502*100S+128 2,100
202 01t 22,000 22,000 0
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